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Quiz Date: 16t July 2020

Directions (1-10): In each of these questions, two equations (I) and (II) are given. You have
to solve both the equations and give answer

(a) if x>y

(b) if x>y

(c) ifx<y

(d)ifx <y

(e) if x =y or no relation can be established between x and y

QLL2x*-7x+6=0
L6y -11y+3=0

Q2. .12x*+16x-3=0
II. 6y* - 25y + 4 =0

Q3.1.3x% +x-2=0
IL. 2y*+5y-3=0

Q4.1.5x*+11x+2=0
IL.3y*+11y+10=0

Q5.1.16x* = 16x - 4
II.4y*-9y+5=0

Q6.1.x2—36=0
IL(y—3)2=0

Q7.1.6x2—5x—21=0
11.2y% — 19y + 35 = 0

Q8.1.2x2 —x—15=0
Iy?—7y+12=0

Q9.1.2x%2 —5vV3x + 6 =0
.15y2 —8V3y +3 =0

3 1 1
Q10.1.2x2 + 21x™2 = 13x2
I.6y? — 19y + 15 =0

Directions (11-15): In the following questions two equations numbered I and II are given.
You have to solve both the equations and-
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L6p>+5p+1=0

2 —_

o1, 11-20¢% +9g = -1
(@)ifp>q
(b)ifp=q
(c)ifp<q

(d)ifp=q
(e) if p = q or the relationship cannot be established.

L3p>+17p+10=0
Q12. IL. 1{]4:;rz +9q+2=0
(@)ifp>q
(b)ifp=2q
(c)ifp<q
(d)ifp<q
(e) if p = q or the relationship cannot be established.
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L.p*+24=10p
o13. 11 2¢> + 18 = 12¢
(a)ifp>q
(b)ifp=q
(c)ifp<q

(d)ifp<q
(e) if p = q or the relationship cannot be established.

I.bp+ 2 =96
o14. 11-:3(7p + 5¢) = 489
(@)ifp>q
(b)ifp=q
(c)ifp<q

(d)ifp<q
(e) if p = q or the relationship cannot be established.
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(e) if p = q or the relationship cannot be established.

Solutions
S1. Ans.(b)
Sol.
L. 2x*-7x+6=0

2x*-4x-3x+6=0
2x(x-2)-3(x-2)=0
3
X:E’Z
H 6y2—11y+3=0
6y*-9y-2y+3=0
3y (2y-3)-1(2y-3)=0
13

2

3
X2y

S2. Ans.(d)

Sol.

I. 12x%2 +16x-3=0

12x% +18x-2x-3=0
6x (2x+3)-1(2x+3)=0
13

T6’ 2
. 6y2-25y+4=0
6y’ -24y-y+4=0
by (y-4)-1(y-4)=0
1
y=o4

Sy2X

S3. Ans.(e)
Sol.
L. 3x2+x-2=0
3x* +3x-2x-2=0
3x(x+1)-2(x+1)=0
2

x=—1,=
3
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1. 2y*-5y-3=0
2y’ +6y-y-3=0
2y (y+3)-1(y+3)=0
1
y=5'_3
~ no relation

S4. Ans.(e)
Sol.
L. 5x2+11x+2=0

5x2+10x+x+2=0
5x(x+2)+1(x+2)=0
1

X=_E'_2

1. 3y*+ 11y +10=0
3y’ +5y+6y+10=0
y(By+5)+2((3y+5)=0
y=—§,—2

~ no relation

TARGET IBPS RRB P0/
CLERK PRELIMS 2020
S5. Ans.(c)
IS.OL 16x*=16x - 4

16x*-8x-8x+4 =0
8x(2x-1)-4(2x-1)=0
11

11 4y?-9y+5=0
4y? -5y -4y +5=0
. Y (y-5)-1(4y-5)=0
y=z 11
oo y>X

S6. Ans(e)
Sol.
L.x2—36=0
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x% =36
x =26
IL(y—3)2=0
y=3
so, no relation between x and y
S7. Ans(c)
sol.

[.6x2—-5x—21=0

6x%2—14x+9x—-21=0

2x+3)3x—-7) =0
37

2’3
1.2y2 —19y +35=0
2y?—14y -5y +35=0
Cy-3@-7)=0
5
y = 7'5
So,x <y

S8. Ans(d)
Sol.
[2x> —x—15=0
2x2 —6x+5x—15=0
(x=3)2x+5)=0
x=3,—E
2
Ly? =7y +12=0
y2—4y—-3y+12=0
-Hyr-3)=0
y=34
So,x <y

S9. Ans (a)
Sol.

.2x2—-5V3x+6=0
2x2 —4\3x —\V3x+6=0
(x— 2\/§)(Zx—\/§) =0

3
x=2\/§,£

2
.15y2 —8V3y +3 =10
15y%2 —5V3y —3V3y+3=0
(V3y—1)(5V3y —+3) =0
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S10. Ans (a)
Sol.

3 _1 1
[. 2x24+21x 2 = 13xz2
2x2—13x+21=0
2x> —7x—6x+21=0
2x—-7)(x—-3)=0

7
x= 3,-
2

IL6y? — 19y + 15 = 0
6y?> —9y — 10y + 15 =0
By - 5)3(23' —3)=0

)

3’7 2
So,x >y

S11. Ans.(c)
6p +5p+1=0
6p° +3p+2p+1=0
3p(2p+1)+1(2p+1)=0

20¢° +9g+1=0
= 20g°+59+49+1=0
5g(4g+1)+1(4g+1)=0

Sol. h

S12. Ans.(c)
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3p*+17p+10=0
3p*+15p+2p+10=0
3p(p+5)+2(p+5)=0
=:-p=—5,_?2

10g°+9g+2=0
= 10g° +5q+49+2=0
5¢+(2g+1)+2(2g+1)=0

-2 1
2a4=77
<
Sol. p=4
S13. Ans.(a)
p’ +24=10p
=p>—10p+24=0
pP—6p—4p+24=0
plp—6)—4(p—6)=0
np =64
2q° +18 =12q
=2g°—12¢q +18=10
2q° —6g—6g+18=0
=2q(g—3)—6(g—3)=0
=qg=373
=
Sol. p=i
S14. Ans.(a)

Sol.

5p+ 2q =96 ....... (% 5)
489

?p+5q=T=163 ....... (= 2)
= 25p + 10q = 480 ...(i)

14p + 10q = 326 ...(ii)
Subtract (ii) from (i)
11p = 480 — 326

— 154 _

=p= m 14
Now, 5p + 2g = 96
29 =96 —5 X 14

_96-70 _ 4

2

Lp =g
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S15. Ans.(b)
59 _ o
Ve AP p
=6=,px,p
p =
g'®—(36)* =0
qlﬂ — (62}5
=q=16

pzq
Sol.
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